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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 How much amount is given as a monetary award in the Indira Gandhi Peace Prize?

A

B
Cc
D

Q.No: 2

o 0 W

Q.No: 3
A

B
C
D

Q.No: 4

O 0 w

No: 5

O 0w > O

No: 6

o 0o ®m » 0

Q.No: 7

Rs.15 Lakhs
Rs.30 Lakhs
Rs.25 Lakhs
Rs.10 Lakhs

Who is the father of scientific socialism?
Vladimir Lenin

Leo Tolstoy

Karl Marx

William I

The chikara is a . (From the given options only)
dance style of Madhya Pradesh

string musical instrument

wind musical instrument

rhythm musical instrument

In which year did Daulat Rao Sindhia establish Gwalior as capital?
1821
1842
1833
1810

Booker Prize was first awarded in which of the following years?
1971
1968
1970
1969

Who has become the first woman to win 28 Grammy Award?
Beyonce

Ariana Grande

Lady Gaga

Madonna

Who among the following was known by the name of Little Corporal?

Napoleon
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Q.No: 8

o 0 w r

Q.No: 9

O 0 W

Q.No: 10
A

B
C
D

Q.No: 11

O 0 W

Q.No: 12

g 0O w

Q.No: 13

o 0o w

Q.No: 14

o N0 w

Q.No: 15

Machiavelli
Rousseau

Mazzini

Who was the chairman of the first comprehensive attempt at reforming the tax system was by

the Taxation Enquiry Commission (TEC)-1953-547?
Nicholas Kaldor

K.N. Wanchoo

John Matthai

Raja J. Chelliah

In which areas “Slash and burn cultivation” is done in India?
North-East

Rajasthan

Odisha

Coastal areas

Ports those are located away from the sea coast are known as?
Out Ports

Comprehensive Ports

Inland Ports

Commercial Ports

Peaty Soils are found in which type of areas?
Cold areas

Less Temperature and Swamp Areas
Less rainfall and Desert Areas

Heavy Rainfall and High Humidity

Ahirai is the traditional dance of which of the following tribes of Madhya Pradesh?

Bhumij
Bharia
Bhutia

Mahali

I U WR qd § Smufey ool Y o gl B1 S T MUl ISt A B o FHdt

Sixty percent of the world’'s people stay in just how many countries?
Fifteen

Eight

Twelve

Ten

Which of the following districts of Madhya Pradesh is known for diamond?
Chhatarpur

Tikamgarh

Sidhi

Panna

According to the Union Budget, 2020-21, what is the highest rate of direct tax in India?

20%
40%
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30%

35%

What is the position of India in terms of pharmaceutical production?
Fifth

First

Third

Eighth

Who among the following leaders is associated with Khudai Khidmatgar movement?

Abdul Gaffar Khan
Saiyyad Ahmed Khan
Firojshah Mehta

Badruddin Taiyyabji

Which of the following places of MP was once ruled by Shah-Jahan for a very long period?

Burhanpur
Maheshwar
Indore

Ujjain

Which of the following Chief Minister has been Honoured with the Skoch Chief Minister of the Year

Award?

Kamal Nath
Arvind Kejriwal
Yogi Adityanath

Jagan Mohan Reddy

Identify the odd one out of the following-
Meenakshi Amman Temple

Sri Ranganatha Swamy Temple
Brihadeshwar Temple

Hampi Temple

The Gir National Park is famous for
Nilgai

Sambar Deer

Lion

Tiger

Scientific name of which of the following is Mangifera indica?
Orange

Wheat

Mustard

Mango

Which oil is used in the froth floatation process?
Mustard oil

Kerosene oil

Coconut oil

Pine oil
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Q.No: 28

o 0 w

Q.No: 29
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Q.No: 30

Directions: The following question consists of two statements one labeled as “Assertion” and
the other as “Reason”. You have to examine these two statements carefully and select the

correct answer to the question from the given options.

Assertion (A): Overcoming pollution is a powerful way of environmental management.

Reason(R): Environmental management is required due to various problems that affect natural

and artificial factors on the earth.
Both A and R are false

A is false, but R is true.

A is true, but R is false.

Both A and R are true
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Agar is obtained from which of the following?
Carotenes

Porphyra

Laminaria

Gelidium

Match the following :

1 | Wildlife sanctuary A | First week of June

2 | World environment day B | First week of October

3 | Wildlife week C | Conservation of wildlife

1.B, 2.A, 3.C
1.A, 2.B, 3.C
1.C, 2.A, 3.B
1.A, 2.C, 3.B

What is the group or lump of cancerous cells called?
Malignant tumor

Insignificant tumor

Temporary tumor

Plain tumor

Which of the following is also known as rock-crystal?
Granite

Chalk

Marble

Quartz

The decrease in the platelet count can lead to internal
injury

bloating

haemorrhage

swelling

Genera like Selaginella and Salvinia which produce how many kinds of spores?

Thirteen kinds
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Q.No: 35

o 0O w

Q.No: 36

Eight kinds
Fifteen kinds

Two kinds

What is the SI unit of work?
Joules (J)

Volt (V)

Coulomb (C)

Ampere (A)

The two types of energy is kinetic and
Capacitance

Wave

Potential

Light

The members of chlorophyceae are commonly called_______.
Red algae

Black algae

Green algae

White algae

Which one is wrong about the effect of industry established on the river bank on the river
ecosystem?

it will also lead to the destruction of marine life.
these substances make the water impure to use and unfit for drinking.
it provides toxic carbon dioxide of marine plant life.

This would lead to water pollution.

Which one the following is a reptile?
Penguin

owl

Crow

Lizard

If the mirror is placed on the line, then which of the answer figure is the right mirror image of

the given figure?
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Q.No: 40
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Q.No: 41
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uli
A

How many straight lines are there in the following figures?

L~

10
11
12
13

Choose the numbers which is different from others in the group?
2,4,16

5, 25, 625

3,9, 81

4, 16, 64

Find the number of triangles in the given figure.

a un bh W

Find the missing term in the following series.
SKC, VND, YQE, ?

H1]

TUW

MPQ

BTF

Select the option that is related to the third number in the same way as the second number is
related to the first number.

7:48::7:168
13
11
12
14
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In the given diagram,
Triangle represents the
person who can speak
Hindi, Square
represents the person
who can speak Punjabi
and Circle represents
the person who can
speak English.

The person who can
speak all the languages
indicate by the which
number?

10
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How many triangles are there in the following figures?

0 N Uu o

I99 UH TR G4 A MUy oo B o g B 1 3 T AT IS ] DI ST FHA

In the following question, one statement is given followed by two conclusions I and II. You have
to consider the statement to be true even if they seem to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statement: Songs always have singers to sing them.

Conclusions:

1. Singers make a song.

II. There is no un-sung

song.

Only conclusion I follows

Only conclusion II follows

Both conclusions I and II follow

Neither conclusion I nor II follows

Which is the wrong term in the following series?

28, 65, 127, 217, 344
217

127

65

344
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Q.No: 50
A
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Select the odd word/letters/ number from the given alternatives.
18-29
72-83
43-54
52-61

Select the option that is related to the third term in the same way as the second term is related
to the first term.

CFIL : DGJM :: DHLP : ?
EIMQ
EIMQ
EIMO
EIJQ

Select the letter-cluster that is related to the third letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster.

Dda :aDD ::Rrb:?
DDA
bRR
BBr
RRR

Select the option that will come next in the given series.

:o
(=)
B4
o
=
o
-~

S|

&

Choose the numbers which is different from others in the group?
3-9

13-169

7-49

8-65
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Find the number of triangles in the given figure. 39 mpfa & Brys 31 Ie Ia Sl
Q.No: 51
A 5 5
B 8 8
C 3 3
D 7 7

F AR e A frar war 1 zes i o A i sl oy

A figure analogy is given below. Understand the logic behind it and complete the analogy F4

for the next figure.
o |. N (T
. N e : » ?
ol [®]" [Tl *? of'[® o L

Q.No: 52 O

S &

c (D) (D)

D ab ab

In the following question, a certain series of numbers or letters is given of which one series is FrofoRaa uy &, Semel a1 werl ot e M ga § T g, el 3 @ gaa
empty. You have to decide which of the alternative series of the answer will be used in the blank & & a0 ¥ § 39 @a & IHH ¥ el Raq =i & SW 3 HiF O Ivfer

Q.No: 53 space that is originally related to the sequence of that series. @
D4aw, GIT, J14Q, ? D4wW, G9T, 114Q, ?
A 025] 025]
B M19N M19N
C P25M P25M
D L25N L25N
Identify the class that best represents the Venn-diagram. I T B UgAE BY S I-2RT BT Yo 33T Ul I g1
Q.No: 54
A Doctors, Professors, Hospital 3‘1’3?{', Iﬁﬁo‘\q?, ST
B Professors, Post-graduates, Employed MR, JAHRR, SR
(o Infant, Living being, Trees ﬁl’-‘{[, Siifaa TI'I'Uﬁ, 33
D English, Hindi, Urdu it &, 9§

Select the option that is related to the third number in the same way as the second number is S9f S o RN S
Q.No: 55 related to the first number. GiEssEe! PR Fefid W de vgdl

s 140319
25:14::31:7? 25:14::31:7
A 16 16

B 17 17
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15
18

A certain gift box contains 28 Kit-Kat chocolates and 46, 5-star chocolates. How many 5-star

chocolates were taken out from the box such that 70% of the chocolates in the box would be Kit-

Kat.
42
46
39
34

The total cost of an article, including sales tax, is Rs.840. The sales tax rate is 20%. If the
shopkeeper made a 40% profit, find the cost price of the article.

Rs.600
Rs.500
Rs.720

Rs.875

Find simple interest?

Principal = 20000 rate =5% time = 4 years
5000

4000

4050

2000

Two men P and Q start together from place A at 3 km/h and 3.75 km/h respectively for place B.

Q reaches half an hour before P. What is the distance that each one has covered?
7.2 km
7.8 km
7.5 km

7 km

A bag contains 312 coins of 1 rupee, 50 paisa and 25 paise. The ratio of value of 1 rupee, 50
paisa and 25 paisa coins are 4:2:1. Find the value of 50 paisa coins.

Rs. 62
Rs. 52
Rs. 26
Rs. 102

Vivek pays income tax at the rate of 10%. if his income increased by 10% and his tax rate
increased to 15% his net income would increase by 2800. what is Vivek’s income?

100000
80000

120000
140000

The sum of the number of boys and girls in a school is 150. If the number of boys is x, then the
number of girls becomes x% of the total number of students. The number of boys is:

90
70
80
60
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Q.No: 65
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Q.No: 67
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Q.No: 68
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Q.No: 69
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et ) s of Tt ompurs s 4 e 088 U3 st ' e
g oPp ! ° 15% wid o SR o B & dEd, SIS X 18% Wi s &t dorn A F

.a.Th in I h i in scheme A was Rs. 2580. H . . !
D e e e inarast aanmed under schemee B after oo yeore. 1 he intorea 15 compounded | TP B9 2580 T a1t o A s oAt e 8 o e
years; P o Siffa st R 22

annually in both schemes?

Rs. 3324.20 Rs. 3324.20
Rs. 3319.20 Rs. 3319.20
Rs. 3139.20 Rs. 3139.20
Rs. 3913.20 Rs. 3913.20

What will come in place of question mark (?) in the following question? et wr 7wy 29 (2) F =4 0 =T a9

642x17% _ 642x177

2 64™X177 _ 5
289 289 ’

3844 3844

2048 2048

4096 4096

3124 3124

The simple interest on a sum deposited at 10% p.a. for 4 years is Rs. 20,000. What will be the 4 T§ & fT 10% Ufd af $ g3 I w7 IR W VLR S 20,000 T B
compound interest on the same principal sum at half of the above rate of interest for 2 years? 2 a¥ & iU =019 3} ITITT &R F MY W IHH YA AR W FHHglg oI o1 §

Rs. 5125 5125%.
Rs. 5,010 5,010 %.
Rs. 5,020 5,020 ¥.
Rs. 5,015 5,015 3.

A coolie deposits Rs. 150 per month in his post office Saving Bank account. If this is 15% of his  U® Hl 3U- SIHWR §9d 3 T4 § Ufd A6 150 9 S Hcl 81 e T8 IF

monthly income, find his monthly income (in rupees). IqD! TRIE 3R (IUT H) I B
500 500

1500 1500

1000 1000

2000 2000

In what time will the simple interest be 2/5 of the principal at 8 per cent per annum? o wma & 8% Ufd a¥ B &R J WHRU AT e BT 2/5 T SN2
6 years 6 af

4 years 4y

2 years 2Tg

5 years 5 af

What percent of 8.2 kg is 24gms? 8.2 foun 1 faan ufasra 24 7 82
29% 29%

2.9% 2.9%

0.029% 0.029%

0.29% 0.29%

A fruit seller sells all his fruits at a loss of 30%. The cost price of all the fruits is Rs.15200, If the TH ®d fagar o0 Taft il BI 30% @t g | a9ar 71 9+ wal 1 9 I R

price is further reduce by 10% , then find its selling price. T DiAd & 3R 10% Bt HH F w1 8, & 391 s I I il
Rs.9665 Rs.9665
Rs.9576 Rs. 9576
Rs. 9476 Rs. 9476
Rs.9776 Rs.9776
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In a group the ratio of police and lawyers is 2:3. If the total number of people in the group is 90. U THg ¥ YR 3R Jaidl 31 oua 2:3 §1 Al g & oafdadl 3t oo gem ¢

Q-Ng; 70 What is the number of lawyer in the group. T 1A He?
A 50 50
B 38 38
c a4 44
D 54 54

In a certain code, if ALPHABET is coded as RHZDFSID
Q.No: 71 and MARKER is coded as PHIUYP, then how is fosht 3@ e , afg ALPHABET ®1 RHZDFSID $fed FRd & 3IR MARKER ®I PHIUYP Gfed &Xd €, df 39 & # “MATERI/
“MATERIAL" coded in that code?

A JDGUCWYP JDGUCWYP
B HRDPJDGP HRDPJDGP
C JDGUHWYP JDGUHWYP
D JDGPCWYP JDGPCWYP

Q.No: 72 If 50 minutes ago, it was 45 minutes past four O’ clock, how many minutes is it until six O’ clock? 3% 50 e Ugd, TR ot 45 e gU 3, @ g 79 & fhar e W &2

A 45 45
B 15 15
c 25 25
D 35 35
Q.No: 73 If CAB = 12 and FED = 30, then HIDE = . Ifg CAB = 12 3R FED = 30 ¥, &1 HIDE =
A 68 68
B 52 52
C 48 48
D 44 44

lezr:l;);’;:: ;c;l:i:;ng cube in the answer figure cannot be made based on the unfolded cube in TR mf" iR § Y 59 o 9 Uy R ﬁ@ T YR WS

]
u
Q.No: 74 " % v -
4 X Y T
\
\'
Y Y
A T v T v
Z 4
B X v X V]
Y Y
C z T z T
b4 b4
D u x u X
Find the next term in the series. 4Gl BT 3T UG 1 DI
Q.No: 75
XA, ?, VC, UD, TE XA, ?, VC, UD, TE
A BE BE

wB wWB
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Q.No: 76

o 0 W

Q.No: 77

o 0O W P

Q.No: 78

o 0O w >

Q.No: 79

o 0O W »

Q.No: 80

o 0O w

Q.No: 81

o 0 w >

Q.No: 82

O 0 w

YE
ZE

What was the day of week on 19 June 1440?
Wednesday

Thursday

Friday

Saturday

Which one word can be formed from the following letters?
bc k a h us r

bankers

backrush

booklet

bankrupt

In the following equation, select correct combination of mathematical signs to replace A and
balance the equation.

60 A5307A174A2A1
X, =X
=, = X, -
- k=

+om X, =

If *x’ means subtraction, ‘+’ means multiplication and ‘-’ means addition, then find the value of
following equation.

12+ (3x1) + 4-1
97
105
75

80

In a certain code CAMEL is written as MFNBD. How shall TIGER be written in that code?
SFHJU
SFJUH
SFUJH

SHFJU

In a code language EXPLAIN is written as XEALPNI. How will FACTORY be written in that
language?

AFOTCYR
CAEOTYR
AFTCROY

AFTOCYR

If day before yesterday was Wednesday, when will Sunday be?
Tomorrow

3 days after today

Today

Day after tomorrow

GET IT ON

Google Play

YE
ZE

19 S 1440 $ G HT S A1 T U1?
qUAR
TFAR

hAR
R

Faffed sl ¥ S W1 U g S S IHl 32
bc k a h us r

bankers

backrush

booklet

bankrupt

Fofafed afieo 4,
A I AR F R Fefle=ur @1 wgferd e % forg 1ftrfa Rl & @@t waiom

60 AS5307A174A2A1

e x' F1 3 e, + B 34 on SR - w1 3 Sirg g e Pl wriew

12+ (3x1)+4-1

97
105
75
80

Tfe CAMEL ST MFNBD fRraT ST Wadl 7, dl TIGER F 99 $is & H9 ferar wmdm
SFHIU
SFIJUH
SFUJH
SHFJU

TP PIS U & EXPLAIN &I XEALPNI % &9 & forar T 81 39 W11 # FACTOR

AFOTCYR

CAEOTYR

AFTCROY
AFTOCYR

I el Y ggel &1 faT JYGR oI, i AJaR e gme
Easl

9 ¥ 3 e arg

MIE]

Lo
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Q.No: 83 What is the angle between minute and hour hand at 12 : 20? 12 : 20 W e SR 9 9 € & o9 &1 o o g 82
A 20° 20¢
B 110° 110°
C 260° 260°
D 120° 120°
Arrange the following words as per order in the dictionary. iR =gl @ Te & AT 1T BH & sguR e
1. Pick 1. Pick
2. Pith 2. Pith
Q.No: 84
3. Pile 3. Pile
4. Perk 4. Perk
5. Pour 5. Pour
A 4,3,2,1,5 4,3,21,5
B 4,1,3,2,5 4,1,3,2,5
C 543,21 5 4,3,2,1
D 4,1,2,3,5 4,1,2,3,5
Which two signs should be interchanged to make the given equation correct? fw T THfieRur 3t 9 e H & o {59 &1 gl 1 su & sigen S 9iige?
QN0 S v 8x3512-5234 72+8%x3:12-5=34
A +and - + R -
B -and x - 3 x
c +and + + IR+
D +and X = 3R x

Q.No: 86 A man is walking at the speed of 10 km/hrs. He takes 5 minutes rest per km. In how much time  U% 3gHt 10 . /8¢ 31 &% @ 7@ w1 81 vfa il R ag 5 fiFe &1 s @

he will cover 5 km? fas avg & @ Sam?
A 40 minutes 40 fiFe
B 70 minutes 70 fome
C 50 minutes 50 fire
D 60 minutes 60 fire
Q.No: 87 The least perfect square number which is divisible by 6, 8, 10 and 11, is: 98 ag<H quf &Ff Sem i 6, 8, 10 3R 11 I faursa §:
A 108900 108900
B 217800 217800
[of 435600 435600
D 109800 109800

Awire in the form of a square encloses an area of 289 cm?. How much area enclosed if the same wire &% 1 % ¥ 7 T AR 289 1 il S &A% I Rl §1 AR WAF AR 19

Q.No: 88 s pentin the form of rectangle of length 19 cm? 2 < 1 78T g &, A R AT IR 2
A 168 cm? 168 T
B 128 em? 128 T Ivft
c 285 cm? 285 oif |t
D 78 cm? 78 T qet
Q.No: 89 Ifa+b=6,a—b=2 then what is the value of 2(a> + b?)? Ifga+b=6,a—b=2grdl2(a? + b2) FH A FAT M
A 15 15
10 10

C 5 5
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A merchant has 60 liters of oil of one kind, 90 liters of another kind and 120 liters of third kind.
Q.No: 90 He wants to sell the oil by filling the three kinds of oil in tins of equal capacity. What should be
the greatest capacity of such a tin?

A 15 litres
B 45 litres
C 60 litres
D 30 litres

Q.No: 91 Three numbers are in the ration of 4 : 7 : 9 and their LCM is 2520 . Find their HCF?

A 10
B 15
C 12
D 16

I U WR U F Simufer ool FY 1 g B1 34a: G MUY o AT Bt o bt

A committee of 3 members is to be made out of 3 men and 3 women. What is the probability

Q-.Na: 92 that the committee has at least one man and one woman?
9
A 10
19
B 20
17
c 20
z
D 10
I U R g § SmafRy oof Y o gt 1 3 G MUl ot T @t o Fbatt
No: 93 In a race of 200 metres, Y can give a start of 10 metres to X, and Z can give a start of 20 metres
Q.No: to Y. The start that Z can give to X, in the same race, is:
A 29 m
B 31m
C 32m
D 30m

GET IT ON

Google Play

40

TP IR & U TP YHR BT 30 eliex, TR WHR BT 90 Thex 3R Ik UdR &
UHR F A B TAF &1 F o1 & 1R A7 I Irgal 31 T oA 1 vl o
15 dtex
45 Hiex
60 Tex
30 e

T EEE 4:7: 9 F ogud # § ol 37T LCM, 2520 71 I7HT HCF I B
10
15
12
16

3 gl SR 3 niganst # 9 3 Uewl @t uw wfvfa a7 9F R
Al & F7 4 A 1@ TV SR T Afee 51 BT 1 MRS 82

9

10

19

20

17

20

200 HIR P G5 F, ¥, X Y 10 Hex B Y0 & TFan 8, (R Z, Y F 20 MR
I g A Z, X P LEIHE S Gobell §,:

29
31
32+
304t

Q.No: 94 'g:f smallest number which when added to 571 gives a number whose square root is 24, will T5 TR O T 1 &R0 R 571 B Sie TR e T W 2t 2 mﬁlfﬁ'fijﬁ

o 0 w >

3
4
5
6

In the given figure, O is the center of the circle and OC = AC. Find and 2ADC.

A 45°
B 60°
C 30°

D 90°

3
4
5
6

45°
60°
30°
90°
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Q.No: 96

o 0 w >

Q.No: 97

o N0 @ >

Q.No: 98

Q.No: 99

o 0O w

24

On the map, 1/4 cm shows 220 km on the ground. If two cities are actually2640 Km apart on
the ground, then the distance between them on the map is

6 cm
5cm
3cm

4 cm

What value would come in place of the question mark (?) in the following equation?
(37)%-/841+25% of 580 =?

1757
1327
1476
1485

If a* = b¥ = ¢® and b? = ac, then y equals

2xz
(x+2)

xz
2(x-z)

Xz
x+z
xz
2(z-x)

I 99 W gd & el aof A o1 gt ¥1 er: g emufy oot T 6t o watt

A number is as much greater than 17 as it is less than 57. Find the number.
40
37
44
36

Q.No: 100 ¢ G)x.(z—i)x_i = g then the value of x is:

o 0O «w >

1
4
3
2

GET IT ON

Google Play

TARE W, 1/4 3.1 sl ) 220 .41, @ <xifar 21 afg 31 3R i R arag
T 2640 5.1, A g} R 7, & AARE R 3% T A g T nd

6 ¥4
5 ¥.aft
3§t
4 J.ft

Fafafad grfieo & usas fag (2) F M R &1 HE $e?
(37)%-V841+580aT 25 %=?

1757
1327
1476
1485

giga¥=b" = 3ﬁ“{b2=ac,’€8’fym§.

2xz
(x+2)

Xz
2(x-2)

xz
x+z
Xz
2(z-x)

TP GBI 17 A It & 9t R Rt a8 57 A o1 21 ag e F1d S|
40
37
44
36

& () (@ 2t axeram ¢
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